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> T:=[seq(exp(-i),i=0..5)];

listplot(T);
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B2 IZoptionZ D 1F % & point THfi < .
| > listplot(T,style=point):
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> T:=[seq([i/2,exp(-i/2)],i=0..6)1;
pointplot (T,symbol=circle,symbolsize=20);

W
o

1 3 5
7=110,1], 3,67?,[1,64], ?,eij,[Z,e_z], %,eif},[le_}]
1.0
07]
0.5:
03] )
0.1 e
[ p) 3

=listplot0) X TORE L VIRIZIE, DITD X 9 IZoptionk D) 5.
| > pointplot (T, connect=true):
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plottools 232§~ % disk, arrow Dl /5 2 /R T,
FETHIMICHIE R 7 A4 77V =23y Ir = (plots B X Uplottools) % with Tt AiA
ATEL.
> restart;
with(plots):with(plottools):
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> with(LinearAlgebra):
A:=Matrix([[1,2],[2,1]1]):
a0:=Vector([1,2]):
al:=A.a0;

2k 2> Trig,(1,2) D%, (5,4) BB % &9 5 (LincarAlgebraZ

al = (1.1.2.1.1)
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L > pO:=convert(al,list):pl:=convert(al,list):
PEEPOIZ P (disk) Z 1202, /R TR <. FIL & 9 IchziEplicERR0.2, HET
diskZ Hifi <
> pointl:=[disk(p0,0.2,color=red),disk(pl,0.2,color=
L blue)]:
b9 =D, p0%SpliTiflh ) Kil(arrow) 2L K E S THIC. 85 DET
2L % EMDIRPRAIDKE IDEDL %,
L> linel:=arrow(p0O,pl,0.05,0.3,0.1):
NS % F EOTEMR(display),. ZDEE, FRHIHZ0.6,0.65T 5,
> display(pointl,linel,view=[0..6,0..6],gridlines=true);
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> Matrix([[cos(theta),sin(theta)],[-sin(theta), cos
(theta)]]);

(1.1.2.2.1)




cos(8) sin(0)

1.1.2.2.1)
-sin(0) cos(0)
[C BB O k9 ICE#HL TV B,
> A:=t->Matrix([[cos(t),sin(t)],[-sin(t),cos(t)]]);
A= t— Matrix ([ [cos(7),sin(z) ], [ -sin(z),cos(z) ]]) (1.1.2.2.2)
[t [l Pi3) 2 AT B
> al:=Vector([3,0]);
al:=A(Pi/3).a0;
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al = 3 (1.1.2.2.3)
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> pO:=convert(a0l,list):pl:=convert(al,list):
pointl:=[disk(p0,0.2,color=red),disk(pl,0.2,color=
blue)]:
linel:=arrow(p0,pl1,0.05,0.3,0.1):
display(pointl,linel,view=[-4..4,-4..4],gridlines=

true);
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> restart;
with(plots):
with(plottools):
p:=[[0,0,0],[1,0,0],[1,1,0],[0,1,0],
L f[o,0,11,11,0,11,(2,1,11,[0,1,1]]:
RIZ Z 1% pointplot3d T fH IR
> points:= { seq(p[i],i=1. 8) }:
pointplot3d(points, symbol—c1rcle symbolsize=40,color=
black);
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LT, 2N % seq THED KENITHT L CTHET .

> 11:=[[1,2],[2,31,[3,41,[4,11,[1,5]1,[2,61,13,71,1[4,8]1,
[5,61,[6, 7] [7, 8] [8, 5]]
lines: —[seq(llne(p[ll[l][1]],p[ll[1][2]]),1— ..nops(1ll))
]-

> display(lines,scaling=constrained,color=black);
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> 13:=display(lines,scaling=constrained,color=black):
p3:=pointplot3d(p,symbol=circle,symbolsize=40,color=
black):
display([p3,13],scaling=constrained,color=black);
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> proj2d:=proc(x,z)

local x1,yl;

x1l:=x[1]*z/(z-x[3]);

yl:=x[2]*z/(z-x[3]);

return [x1,yl];
|l end proc:
2R DR AN T, xTHEEZZITI - TEH L 2812 x1,yl11& LTGRL
T3, ZORKZIIOFRR EHAGORIUTERM ORI TE %,
> z_p:=-8;

lines:=[seq(line(proj2d(p[l1l[i][1]],2_p),

. proj2d(p[11[i]l[2]]1,z_P)),

i=1l..nops(1l1l))]:

display(lines);
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vy Blj(Animation)
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> with(plots):
animate(plot, [sin(x-t),x=0..5*Pi], t=0..10);
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> tmp:=[]:
n:=10:

for i:from 0 to n do

t:=i;
tmp:=[op(tmp), plot(sin(x-t)+sin(x+t),x=0..5*Pi)];
L end do:
> display(tmp,insequence=true);
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> with(plottools,line):
F := proc(t)
plots[display] (
line([-2,0],[cos(t)-2,sin(t)],color=blue),
line([cos(t)-2,sin(t)],[t,sin(t)],color=blue),
plot(sin(x),x=0..t,view=[-3..7,-5..5]) );

end:

animate(F, [theta],theta=0..2*Pi,
background=plot ([cos(t)-2,sin(t),t=0
scaling=constrained,axes=none);
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> plotsetup(gif,plotoutput=£file2):

display(tmp, insequence=true);
plotsetup(default):
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